" Time : 2 hrs. CODE - MERCURY

Marks :50

N.B. 1)Q.No.1is compuisory. :
- 2) Attempt any THREE questions from Q. No.2 to Q. No. 6.
3) Draw diagrams whereever necessary.
4) Figures to the right indicate full marks.

Qi1 A)

B)

€)

Q2 A)
B)
Q3 A)
B)
Q4 A)
B)

Q5 A)

Define the following

1) Income elasticity of demand
2) Economies of scope.

3) Social cost

Distinguish Between :
1) Short run and long run production function.
2) Primary and Secondary data.

What happens to demand when the following changes take place:-
1) The price of the commodity rises.

2) The price of the substitute commodity rises.

3) The price of the complimentary good increases.

4) The price of the good is expected to rise.

Discuss the steps involved in decision making.

Explain the principle of increasing opportunity cost with the help
of PCC. '

Bring out the significance of demand forecasting

Find out the relationship between the two goods using cross elasticity
of demand.

Before After

Commodity | Price Quantity | Price Quantity

X 10 20 20 15
Y 20 40 .20 35

Derive the condition for producer’s equilibrium with isoquant
technique.

Explain external Economies and Diseconomies of scale.

Why is LAC curve U-shaped ?
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B) Complete the short run cost schedule ;_

output | TEC|TvC |TC |AFC|Avc|atc|mc
(Units) | (Rs)| (Rs) |(Rs.)|(Rs.) | (Rs)| (Rs)| (Rs.)

|20
30
38
44
48
50
56

N G W N =00

Q.6 Write Notes ( any Two)
| 1) Scope of Business economics.
2) Determinants of demand.
3) Consumer's surplus

4) Returns to scale. °
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